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Def: Let A andB be

sets .

We say that
A

is a subset of B
-

if every
element of

A

is also an
element

of B,

We write
A & B

if

A is a
subset

of B.

Note:

B Some
people
write

A A CB

S
[
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Ex : Suppose we flip a coin
- and

three times in
a now

record each time
if we get

H = heads or T =
tails .

to

Let's make a sample space

model this
experiment

. sample
space
means
all

S=E(H , H ,H) , (H,
H
,
T),[possible

outcomes

(H , T, H) , (H ,
T
,
T)
,
(T, H, H),

(T, H ,T) , (T,
TsH) , (T,T,T)]

-Here
(H,T, H)

means :

1st flip=H
2nd flip

=T

3rd flip
= H

that

We use parenthesis
to denote

order matters
.
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Jef : The empty set

is the set with no

elements.

It's denoted by $ or E3.
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mark: A set -

satisfying O, ② , and

from the previous definition

r-algebra
is called a
- T[--field .

sigma
or-

-

mark: If
It is a

o - algebra

one can
show

that

Cal
E

(b) If
E,,
Ez
,
Es , ...

are

then
& Ei

in, i

is in
e

if [Skip in class-reference notes]







































So,

E = &(1, 1), (1 , 2), (1 , 3) , (2, 1) , (2,
21
,

(2 , 3) , (3,
1) , (3, 21 , (3, 3)3

We have IE1=9.

Since each outcome is equally

likely with usual 12-sided dice

we have

p(E) = =
= +

Thus,

P(t) = 1 - P(E) = 1 - t
I↑ [
=

16

Thy P(E)=1-P(E) ~ 75


